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binomial theorer You can use the binomial theorem to expand any power of a

» used to expand binomial expression.

(x+y).neN (x + )" = C(x)(7)° + C.(x)" () + C(x)"~y)* + -
» each term has the f :_DC [X]l[ ]ﬂn_l'l + C [X:ID[ jln :

LX) (v)s, where a T an

k + 1 is the term

number

In this chapter, all binomial expansions will be written in
descending order of the exponent of the first term in the binomial.

The following are some important observations about the

expansion of (x + y)", where x and y represent the terms of the
binomial and n € N:

* the expansion contains n + 1 terms

* the number of objects, k, selected in the combination C,
can be taken to match the number of factors of the second
variable selected; that is, it is the same as the exponent on the
second variable

* the general term, ,  , has the form

LX) *(y]?
the same

¢ the sum of the exponents in any term of the expansion is n
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